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QUESTION 1

A failed upgrade from vCenter Server version 5.x to version 6.0 produces the following error: [00800 error “Default\\']
Database version id "600\\' is incompatible with this release of VirtualCenter. What is the cause of the upgrade failure?

A. There was a database schema upgrade failure during the installation.

B. The VMWAREVCMSDS service was upgraded before the vCenter Server service.
C. The Vmware Directory Service database failed during the installation.

D. There was an incompatible ODBC driver version for the database.

Correct Answer: A

The error shows that the database schema upgrade failed during installation.

QUESTION 2

Which two solutions require Physical Mode Raw Device Mapping (RDM)? (Choose two.)
A. Direct access to the storage array device

B. Virtual Machine Snapshots

C. Hardware Acceleration

D. Guest Clustering across ESXi hosts

Correct Answer: AD

Normally, Direct access to storage array device and guest clustering across ESXi hosts required the use of Physical
Mode raw device mapping.

QUESTION 3

An administrator notices that there is an all paths down (APD) event occurring for the software FcoE storage. What is a
likely cause?

A. Spanning Tree Protocol is enabled on the network ports.

B. Spanning Tree Protocol is disabled on the network ports.

C. Spanning Tree Protocol is enabled on the storage processors.
D. Spanning Tree Protocol is disabled on the storage processors.
Correct Answer: A

Prevent all paths down event on FcoE storage by disabling STP on network ports.
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QUESTION 4

An administrator uses the df

Correct Answer: A

IF the NFS datastore is showing 0 bytes of capacity when you use df

QUESTION 5

A vSphere Replication user needs to connect a source site to a target site. What privilege is needed at both sites?

A. VRM remote.Manage VRM

B. VRM datastore mapper.Manage

C. Host.vSphere Replication.Manage replication

D. Virtual machine.vSphere Replication.Manage replication

Correct Answer: A

When connecting sites, users at both sites must have VRM remote.Manage VRM privilege. When you connect sites that
are part of the same SSO, you need to select the target site only without providing authentication details, as you are

already logged in. After connecting the sites, you can monitor the connectivity state between them at Target Sites tab.

Reference: https://pubs.vmware.com/vsphere-55/topic/com.vmware.lCbase/PDF/vsphere- replication-55-admin.pdf
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